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Reasons for allocating joint costs have been expanded to include litigation where joint costs are key inputs. Other sections of the chapter have undergone minor rewriting to enhance the clarity of the coverage. Virtually all of the end-of-chapter problems and exercises are new or revised.
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I.
LEARNING OBJECTIVES

1. Identify the splitoff point in a joint-cost situation and distinguish joint products from byproducts.
2. Explain why joint costs are allocated to individual products.
3. Allocate joint costs using four methods.
4. Explain why the sales-value at splitoff method is preferred when allocating joint costs.
5. Explain why joint costs are irrelevant in a sell-or-process-further decision.
6. Account for byproducts using two methods.
II. CHAPTER SYNOPSIS

Chapter 16 continues the discussion of cost allocation but the focus in this chapter is on allocation of costs in situations where two or more products are produced using the same process. Several methods are presented for allocating the joint costs incurred before products are readily distinguishable from one another. The splitoff point is defined as that point in the production process where the products become identifiable and after which separable costs are tracked directly to each product. Four methods for allocation of joint costs are the sales value at splitoff method, the net-realizable value (NRV) method, the constant gross-margin percentage method, and physical measures methods that use data such as weight or volume. Byproducts are defined as products that have low sales value compared to the other products resulting from the production process, and two methods of accounting for byproducts are introduced. The concept of different costs for different purposes is also revisited.
III. POINTS OF EMPHASIS

1.
Make sure the students understand the reasons for allocating joint costs. Also emphasize that any allocation of joint costs is not to be used for decision-making or performance-evaluation purposes.

2.
Be sure to demonstrate each of the four methods for allocating joint costs. After illustrating the methodology for each, have the students calculate allocations for each method. Emphasize the strengths and weaknesses of each.

3.
Emphasize the superiority of the sales value at splitoff method, and the reasons why it is preferred.

4.
Accounting for byproducts is not a major issue, and it is not a complicated one, so it does not need a great deal of time devoted to it.

IV.
CHAPTER OUTLINE
	LEARNING 

OBJECTIVE
	1

	Identify the splitoff point in a joint-cost situation

… the point at which two or more products become separately identifiable

and distinguish joint products

… products with high sales values

from byproducts

… products with low sales volume



	


1.1 Joint costs are costs of a production process that yields multiple products simultaneously. For example, in processing of beef, the yield includes steaks, roasts, and hamburger in addition to cowhide and other products. Joint costs are incurred prior to the splitoff point.

1.2 The splitoff point is defined as the point in the production process at which two or more products become separately identifiable.

1.3 Separable costs are costs incurred beyond the splitoff point and include manufacturing, marketing, distribution, and other costs.
(Exhibit 16-1 lists examples of joint-cost situations.)
1.4
The outputs of a joint production process yield products with positive sales value as well as outputs having no sales value. Only those outputs having positive sales value or that enable the company to avoid incurring costs are referred to as products.
1.5
A main product is the one product having a high total sales value emerging from a joint production process.

1.6
If the process yields two or more products with high sales values, they are referred to as joint products.
1.7
An output of a joint production process having a low sales value is referred to as a byproduct.
TEACHING POINT. Use some examples to illustrate each of these terms. In the processing of beef, main products would include various cuts of meat as well as the leather hide. Byproducts might include bone, which has only minimal value. Output that is discarded would not be considered a product.
1.8
In practice the distinction between main products, joint products, and byproducts may be difficult to determine.
	LEARNING 

OBJECTIVE
	2

	Explain why joint costs are allocated to individual products

… to calculate cost of goods sold and inventory, and for reimbursements under cost-plus contracts and other types of claims



	


2.1 Joint costs are allocated to individual products for a number of reasons:

· Determination of inventoriable costs and cost of goods sold for external financial reporting and income tax determination.
· Determination of inventoriable costs and cost of goods sold for internal reporting purposes such as division profitability analysis.
· Cost reimbursement when a company has cost-reimbursement contracts as with a government agency.
· Insurance-settlement computations for damage claims made on the basis of cost information of jointly produced products.
· Rate regulation for one or more of the joint products.
· Litigation in which costs of joint products are key inputs. It is important to note that joint-cost allocation should not be used for decision-making or performance-evaluation purposes, as the allocations lack any cause-and-effect relationship.
	LEARNING 

OBJECTIVE
	3

	Allocate joint costs using four methods

… sales value at splitoff, physical measure, net-realizable value (NRV), and constant gross-margin percentage NRV



	


3.1
Joint costs can be allocated using two approaches: market-based data (sales revenue) or by using physical measures (weight, quantity, or volume).
3.2
There are three methods that use the market-based data approach:

· Sales-value at splitoff method

· Net-realizable value (NRV) method

· Constant gross-margin percentage NRV method
(Exhibit 16-2 illustrates the basic relationships in the Farmer’s Dairy example.)
3.3
The sales-value at splitoff method allocates joint costs to joint products on the basis of relative sales value at the splitoff point. Sales value of the production rather than sales is used because the costs were incurred in all units produced, not just those sold. This method follows the benefits-received criterion discussed in an earlier chapter.

(Exhibit 16-3 illustrates accounting for joint products under the sales-value at splitoff method.)
3.4
The physical-measure method allocates joint costs on the basis of a comparable physical measure such as weight or volume at the splitoff point. This method is considered less desirable due to the fact that physical measures usually have no relationship to the revenue-generating abilities of a product.

(Exhibit 16-4 illustrates accounting for joint products under the physical-measure method.)
3.5
The net realizable value (NRV) method allocates joint costs to joint products on the basis of final sales value minus separable costs. This method makes the assumption that products will be processed beyond the splitoff point. It is often used when selling prices for products at splitoff do not exist.

(Exhibits 16-5 and 16-6 illustrate accounting for joint products under the net realizable value method.)
3.6
The constant-gross margin percentage NRV method allocates joint costs to joint products in such a manner that each individual product has the same gross-margin percentage. This method can result in negative allocations of joint costs.

(Exhibit 16-7 illustrates accounting for joint products under the constant-gross margin NRV method.)
TEACHING POINT. Illustrate each method, along with the strengths and weaknesses of each approach. Show how the physical measure and constant gross margin NRV methods can sometimes give less-than-optimal results.

	LEARNING 

OBJECTIVE
	4

	Explain why the sales-value at splitoff method is preferred when allocating joint costs

… because it objectively measures the benefits received by each product



	


4.1
The sales-value at splitoff method is the preferred method when selling-price data exist at splitoff for a number of reasons:

· It measures the value of the product at the splitoff point. This is seen as the best measure of benefits received as a result of joint processing.

· It does not anticipate subsequent management decisions. This method does not require information about any processing occurring after the splitoff point.

· There is a common basis to allocate joint costs to products. All products can be measured by anticipated revenues from the product.

· It is a simple method. The NRS and constant gross-profit margin percentage NRV calculations can become quite complex.
4.2
All of these approaches, however, are arbitrary, lacking any cause-and-effect relationship. Consequently, some companies choose not to allocate joint costs at all, carrying their inventories at NRV. Because this recognizes revenues before the sale is actually made, some companies choose to value inventories at NRV minus estimated operating income margin.

Refer to Quiz Questions 1 through 7          Exercises 16-16, 16-18, and 16-19; Problem 16-27 
	LEARNING 

OBJECTIVE
	5

	Explain why joint costs are irrelevant in a sell-or-process-further decision

… because joint costs are the same whether or not further processing occurs



	


5.1
As mentioned, joint costs are irrelevant for decision-making purposes.

5.2
The concept of relevant costs and revenues should be applied in the decision to sell or process further. If the additional revenues from further processing exceed the additional costs from this processing, the product should receive further processing.

5.3
Likewise, there can be the potential for conflict between cost concepts used for decision-making purposes and cost concepts used for performance evaluation. Using market-based methods of joint cost allocation tend to reduce these conflicts.

5.4
Joint costs allocated to joint products should not be used in making pricing decisions for joint products, as there is no cause-and-effect relationship that identifies resources demanded by each joint product that can be used as a basis for pricing.

Refer to Quiz Question 8  
              Exercises 16-21 and 16-23; Problems 16-29 and 16-30
	LEARNING 

OBJECTIVE
	6

	Account for byproducts using two methods

… recognize in financial statements at time of production or at time of sale



	


6.1
Recall that a byproduct is a product emerging from a joint process that has relatively little sales value. Due to its inconsequential value, it is not beneficial to expend a large amount of resources accounting for byproducts.

6.2
Two methods are utilized to account for byproducts.

· The production method recognizes byproducts at the time production is completed. The NRV of the byproduct is offset against the costs of the main product.

· The sales method recognizes the byproduct at the time of sale. No entries are made until the byproduct is sold. Revenues from the sale are reported as a revenue item in the period sold. These revenues can be grouped with sales, treated as other income, or deducted from cost of goods sold.

TEACHING POINT. In keeping with the nature of byproducts, do not spend a great deal of time on this issue. However, the students should understand the different approaches to accounting for them. Illustration through journal entries is a good way to approach this topic.
(Exhibits 16-8 and 16-9 illustrate byproduct costing.)
Refer to Quiz Questions 9 and 10      


           Exercises 16-17, 16-24, and 16-25
V.
Other Resources 

To download these and other resources, visit the Instructor’s Resource Center www.pearsonhighered.com.

The following exhibits were mentioned in this chapter of the Instructor’s Manual, and have been included in the PowerPoint Lecture presentation created specifically for this chapter. You may use the PowerPoint Lecture presentations “as is”, or modify them to suit your individual needs.

Exhibit 16-1 lists examples of joint-cost situations.

Exhibit 16-2 illustrates the basic relationships in the Farmer’s Dairy example.
Exhibit 16-3 illustrates accounting for joint products under the sales-value at splitoff method.

Exhibit 16-4 illustrates accounting for joint products under the physical-measure method.

Exhibits 16-5 and 16-6 illustrate accounting for joint products under the net realizable value method.

Exhibit 16-7 illustrates accounting for joint products under the constant-gross margin NRV method.

Exhibits 16-8 and 16-9 illustrate byproduct costing.

CHAPTER 16 QUIZ
The following data apply to questions 1 through 5.
Brant Corporation manufactures two products out of a joint process—Scout and Andro. The joint (common) costs incurred are $400,000 for a standard production run that generates 70,000 pounds of Scout and 30,000 pounds of Andro. Scout sells for $9.00 per pound whereas Andro sells for $7.00 per pound.

1. [CMA Adapted] If there are no additional processing costs incurred after the splitoff point, the amount of joint cost of each production run allocated to Scout on a physical-quantity basis is

a.
$300,000.
b.
$280,000.
c.
$120,000.
d.
$100,000.

2. [CMA Adapted] If there are no additional processing costs incurred after the splitoff point, the amount of joint cost of each production run allocated to Andro on a sales value at splitoff basis is

a.
$300,000.
b.
$225,000.
c.
$175,000.
d.
$100,000.

3. [CMA Adapted] If additional processing costs beyond the splitoff point are $1.00 per pound for Scout and $2.333 per pound for Andro, the amount of joint cost of each production run allocated to Andro on a physical-quantity basis is

a.
$300,000.
b.
$280,000.
c.
$120,000.
d.
$100,000.

4. [CMA Adapted] If additional processing costs beyond the splitoff point are $1.00 per pound for Scout and $2.333 per pound for Andro, the amount of joint cost of each production run allocated to Andro on an estimated net-realizable value basis is

a.
$80,000.
b.
$147,350.
c.
$175,000.
d.
$320,000.

5. Assume the same cost information as in question 4. The amount of joint cost of each production run allocated to Scout using the constant gross-margin percentage NRV method is

a.
$224,910.
b.
$260,120.
c.
$335,090.
d.
$405,090.

6. [CPA Adapted] For purposes of allocating joint costs to joint products, the sales-value at splitoff method could be used in which of the following situations?

No costs
Cost 
beyond 
 
beyond

splitoff

splitoff
a.
Yes

No

b.
Yes

Yes

c.
No

Yes

d.
No

No

7. Products G and H are joint products developed from the same process with each being processed further. Joint costs are incurred until splitoff, the separable costs are incurred in further refining each product. Sales values of G and H at splitoff are used to allocate joint costs. If the sales value of G at splitoff increases and all other costs and selling prices remain unchanged, joint costs allocated to:
      G

      H


a.
increases
increases

b.
increases
decreases

c.
decreases
decreases

d.
decreases
increases

8. [CPA Adapted] Tanner Company manufactures products Katran and Klare from a joint process. Product Katran has been allocated $7,500 of total joint costs of $30,000 for the 1,500 units produced. Katran can be sold at the splitoff point for $4 per unit, or it can be processed further with additional costs of $2,000 and sold for $7 per unit. If Katran is processed further and sold, the result would be

a. a breakeven situation.

b. an overall loss of $1,500.

c. a gain of $2,500 from further processing.

d. a gain of $1,000 from further processing.

9. [CPA Adapted] In accounting for byproducts, the value of the byproduct may be recognized at the time of

Production
Sale
a.
Yes

No

b.
Yes

Yes

c.
No

No

d.
No

Yes

10. [CPA Adapted] Mohler Corporation manufactures a product that yields the byproduct Jep. The only costs associated with Jep are selling costs of $0.10 for each unit sold. Mohler accounts for sales of Jep by deducting Jep’s separable costs from Jep’s sales and then deducting this net amount from the major product’s cost of goods sold. Jep’s sales were 200,000 units at $1.00 each. If Mohler changes its method of accounting for Jep’s sales by showing the net amount as additional sales revenue, the Mohler’s gross margin would

a. increase by $180,000.

b. increase by $200,000.

c. increase by $220,000.

d. be unaffected.

CHAPTER 16 QUIZ SOLUTIONS
1.
b 

2.
d

3.
c

4.
a

5.
c

6.
b

7.
b

8.
c

9.
b

10.
d

Quiz Question Calculations
1. Scout 
$400,000 ( 70,000 lbs / 100,000 lbs = $280,000

Andro
$400,000 ( 30,000 lbs / 100,000 lbs = $120,000

2. Scout 70,000 lbs ( $9
=
$630,000

Andro 30,000 lbs ( $7 =
  210,000




$840,000

Scout 
630,000/840,000 ( $400,000 =  $300,000

Andro 
210,000/840,000 ( $400,000 = $100,000

3. See answer to #1

4. Scout
Revenues


$630,000

Additional Proc
 $1 ( 70,000         (70,000)









$560,000

Andro
Revenues



$210,000

Additional Proc $2.33 ( 30,000  
   (70,000)









  140,000







Total NRV
$700,000

Scout 
560,000/700,000 ( $400,000 = $320,000

Andro
140,000/700,000 ( $400,000 = $  80,000

5. 



Scout

Andro

Total
Sales


$630,000
$210,000
$840,000

Separable Costs

   (70,000)
   (70,000)
 (140,000)




$560,000
$140,000
$700,000

Joint Costs

 (335,090)
  (65,010) 
 (400,000)
Gross Profit

  224,910
   74,970*
  300,000
35.7%**

*Adjusted for rounding

**300,000/840,000 

8. Katran @ splitoff value $4 x 1500 = $6,000

Process further $7 ( 1500 = $10,500 less separable costs of $2,000 = $8,500

$8,500 – $6,000 = $2,500 gain from further processing

10.
Sales of Jep

200,000 ( $1 =  $200,000

Separable costs  
200,000 ( $0.10 = 20,000
Jeb Gross Margin


$180,000
However, this amount is currently being deducted from the cost of the main product, so gross margin remains unchanged.
16
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